Worksheet 4.5




Name________________

Find the inverse of each matrix. If it does not exist, write “No Inverse”. 
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Matrices

Day 2 Homework




Name __________________________

Solve the linear system.

1.  9x + 2y = 7
2.  –x – 12y = 44

3.  4x – 5y = 13

4.  x + 2y – 3z = -2

    4x – 3y = 42
     12x – 15y = -51

     2x – 7y = 24
    
     x – y + z   =   -1


    









  
     3x + 4y – 4z = 4

Find the inverse of the matrix if it exists.
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Solve the matrix equation for the variable matrix:
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Find the area of the triangle with the given vertices.

13. A(3,6), B(3,0), C(1,3)




14.  A(-4,2), B(3,-1), C(-2,-2)


Write the linear system as a matrix equation and then use an inverse matrix to SOLVE.

15.  3x + y = 8

16.  2x + 7y = -53


17.  5x – 7y = 54

      5x + 2y = 11

      x + 3y = -22


      x = -3y – 22
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18.  x + 2y = -9

19.  9x – 5y = 43

20.  x – y – 3z = 9

      -2x – 3y = 14

      2y = 2x – 22

      5x + 2y + z = -30









        -3x – y  =  4

� EMBED Equation.3  ���
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